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PART 1 : =42 /1 %

1. A 10-N collar slides down from A with zero initial speed along the
smooth rod. During the motion, a force F = 50xi + 30yj + 10zk N
is applied Lo the collar as shown in figure 1, where z, ¥, and 2z are in
meters. Find the collar’s speed when it reaches B. (20%)
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Figure 1

2. Consider a car driving down a slope represented by the rolling disk
down a slope model as shown in figure 2. Explain how can a moving
car be stopped on the slope by stepping on the car break? (20%)

Figure 2
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